200433)



1950 (Alfred
Kastler,1902-1984)

Rb Rb Bo

E=—ppeBy=0:m- 1By (1 2F+1 F

me AE = gr 1B,

N, /N, =exp(-AE /k,T)

Bo
v

hv =AE =g 1B,

AF =0 Am, =+1

Bo

10 20



025A  0.45A hv = AE = g, 1, B,
528kHz,950kHz.. 583kHz 1008kHz. 10%
Rb87,Rb8&5
Rb&5 0.45A
Resonance v/Hz No. Total/Hz Error With Biggest
1008.4 1 1008.4 0
503.4 2 1006.8 -0.00159
336.1 3 1008.3 -9.9167E-5
252.5 4 1010 0.00159
201.7 5 1008.5 9.9167E-5
167.9 6 1007.4 -9.9167E-4
144 7 1008 -3.96668E-4
112.1 9 1008.9 4.95835E-4
100.8 10 1008 -3.96668E-4
91.8 11 1009.8 0.00139
5Rb
— — 0.2%.
1200 m  Total Frequency of Rb85 At 0.45A
Linear Fit Of Total
1000 = = = = = ] ] = =
800
=
L 600
<
o
'_
400 + Equation y =a+ b*x
Adj. R-Square -0.00407
Value Standard Error
200 Total.a2 Intercept 1007.86515 0.63624
Total.a2 Slope 0.09394 0.0957
Y T T T T ; T i T T 1
0 2 4 6 8 10 12

Number of Photons



0.0020

0.0015

®  Error with the biggest at 0.45A

[ ]
0.0010 |
0.0005 | n
& 0.0000 . .
= |
-0.0005 | . .
-0.0010 =
-0.0015 -
-0.0020 T T T T T T y 1
0 2 4 6 8 10 12
Number of Photons
Rb
Rb87,Rb85
X y
0.25A 0.25A 0.45A 0.45A
Rb87 0.46809 0.21369 0.04966 0.07431
Rb85 0.19107 0.17636 0.21512 0.09394



val
873.5
436.1
290.5
174
145.8
125
97
79.5

val

1511.2
755
503.4
378.1
302.1
252.5
216.1
167.9
137.4
116.3
100.8

No.

—_

— 0 N9 O »n A W N

Total.al
873.5
872.2
871.5
870
874.8
875

873
874.5

Total.a2
583.2
581
583.2
583.2
582

582
583.1
584.1
584.1

Total.al

1511.2
1510

1510.2
1512.4
1510.5
1515

1512.7
1511.1
1511.4
1511.9
1512

Error With Biggest
0

-0.00149

-0.00229

-0.00401

0.00149

0.00172

-5.7241E-4

0.00114

Error With Biggest

0

-0.00377

0

0

-0.00206
-0.00206
-1.71468E-4
0.00154
0.00154

Error
Biggest

0
-7.94071E-4
-6.61726E-4
7.94071E-4
-4.63208E-4
0.00251
9.92589E-4
-6.61726E-5
1.32345E-4
4.63208E-4
5.29381E-4

With

vbl No. Total.bl Error With Biggest
9954 1 995.4 0
4977 2 995.4 0
332.7 3 998.1 0.00271
199.5 5 997.5 0.00211
142.7 7 998.9 0.00352
I11.1 9 999.9 0.00452
909 11  999.9 0.00452
0.25A
vb2 No. Total.b2 Error With Biggest
6652 1 665.2 0
3327 2 665.4 3.00661E-4
2216 3 664.8 -6.01323E-4
1332 4 666 0.0012
1.1 5 666.6 0.0021
952 7 666.4 0.0018
741 9 666.9 0.00256
60.6 11  666.6 0.0021
0.25A
vbl No. Total.bl Error With
Biggest
1638.7 1 1638.7 0
8173 2 1634.6 -0.0025
5445 3 1633.5 -0.00317
4084 4 1633.6 -0.00311
327 5 1635 -0.00226
2719 6 1631.4 -0.00445
233.6 7 1635.2 -0.00214
181.7 9 1635.3 -0.00207
1486 11  1634.6 -0.0025
125.7 13 1634.1 -0.00281
109 15 1635 -0.00226

0.45A



Total.a2

1008.4
1006.8
1008.3
1010

1008.5
1007.4
1008

1008.9
1008

1009.8

Error With
Biggest

0

-0.00159
-9.9167E-5
0.00159
9.9167E-5
-9.9167E-4
-3.96668E-4
4.95835E-4
-3.96668E-4

0.00139

vb2

1089.9
544.5
363.5
271.9
2183
181.7
156
121.2
99.2

Total.b2

1089.9
1089

1090.5
1087.6
1091.5
1090.2
1092

1090.8
1091.2

Error With
Biggest

0

-8.25764E-4
5.50509E-4
-0.00211

0.00147
2.75255E-4
0.00193
8.25764E-4

0.00119

0.45A



